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(b)

Draw the workshop layout indic

(b)
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Explain the requirements of the Occupational Safety and He

the following facilities and equipment:

(1)
(i1)
(1)

Jacaranda Ltd Company intends to set
comprisin

®
(i)
(it)
(iv)
AV)
(vi)
(vir)

(i)

(ix)
(x)
(xi)
(xii)
(xi1)
(xiv)
()
(xv1)
(xvil)
(xviil)
(xix)
(xx)
(xxi)

State any four fun

water services;
storage areas;

fire protection devices..

stores

water point
assembly bench
bench drill
moulding shop
lathe

welding shop
pattern making shop
shaper

milling machine
space for expansion
office

grinder

boring machine
disassembly area
bench

security shop
melting shop
smithy shop
carpentry shop
planer

organization.

alth Act regarding each of

(6 marks)

p a maintenance and repair workshop

g equipment and facilities listed below:

ating the location of the equipment and facilities.

ctions of the quality control department in an industrial

Explain the following types of variations in a manufacturing process:
chance or random variation;
assignable cause variation.

(1)
(i)

(14 marks) ™

(4 marks)

(6 marks)



(c)  Aseries of 20 samples of 4 units gave the following results:
* process mean = 2,500 mm
* mean range = 100 mm

If the constant factor “dn” for the sample size of 4 units = 2.06;
determine the:

(i) warning limits at 0.025 lines;
(ii) action limits at 0.001 lines. (10 marks)
.8 (a) Explain the following terms used in network analysis:

(1) total float;
(ii) slack;
(1)  free float. (3 marks)

(b) Table 1 shows the relationship between the project activity times in days and the
manpower requirement.

(i) Draw the project network and determine the project duration.
(i1) Determine the schedule that minimises the variation in manpower
requirements.
Table 1
Activity |Duration Workers
(in days) required
A 1-2 3 2
P 2-3 4 2
2-4 4 4
3-7 4 6
4-5 2. 2
L v 4 -7 2 4
[ 5-6 3 2
- 6-7 2 2
(17 marks)
4. (a) State any four benefits of systematic training of personnel in organisations.
(4 marks)
(b) Describe the key features of any three expenentlal methods of training used
in courses for management development. -\ "% (9 marks)

(c) As the chairman of an interviewing panel outlme the methods that can be used to keep
the interview under control. _ cyqiy Cleke wous doye AT (7 marks)
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(b)

(c)

(b)

(c)

(b)

(c)
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State any three functions of accounting in an organisation. (3 marks)

Describe the following costs associated with manufacturing:

(1) prime costs;
(i1) factory costs;
(1i1)  work-in-progress. _ (6 marks)

(1) Outline any four benefits of budgeting.
Uiy 48 Explain the “master budget” of a company.
(I)  List any five of the components of a master budget. (11 marks)

Outline the purpose of the following collective bargaining agreement:
(1) procedural;

(i1) substantive. (6 marks)

Explain any three reasons which compel workers to accept the leadership of an
organization. : (6 marks)

With respect to industrial relations, outline the obligations of each of the following
parties in employment contracts: '

(i) managers; ~ ot - et

(11) employees. - \ g (8 marks)

Explain the term “product benefits” with respect to:

(i)  quality;

(i1) branding;

(iii)  packaging. (9 marks)

Outline the characteristics of the following types of inventory control systems:

(1) re-order level system;
(i) periodic review system. (4 marks)

Herderson Company Limited made the following estimates for a component used in
manufacturing:

- Annual usage = 1,125

- Ordering costs = Kshs. 50 per order

- Carrying costs per annum = Kshs. 5 per component

Determine the: =)
(1) Economic Order Quantity; e
(1) expected total stock costs. (7 marks)



8. (a)

(b)

(c)
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Outline the steps followed when carrying out time study in work measurements.
Ty b et ient IBR L el b sont oE L i e w2® (7 marks)
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Motivation of subordinates is an important aspect of a manager’s job. Explain
any three methods that a manager can adopt to motivate staff. (S marks)

FLT(,i_E AR Tel

I:Zx'ﬁl;i‘n “SWOT” afr§1)a.!ysli.s as a "pla.'nﬁih'g tool. (4 marks)



